13 mock marking Scheme Exam Craft 

	1
	
	5(4) i.e. best FIVE answers from (a) - (f)

	
	(a)
	Glucose or any correct

	
	(b)
	Molecules broken down or energy released

	
	(c)
	Phospholipid

	
	(d)
	Disorder must match named fat-soluhle vitamin

	
	(e)
	Lipids or fats

	
	(f)
	Any correct


	2
	
	6(3) + 2 '

	
	(a)
	Any correct

	
	(b)
	Methylene blue or iodine or any other correct

	
	(c)
	Any correct location

	
	(d)
	No energy required

	
	(e)
	(Water enters) by osmosis/cytoplasm pushes against cell wall/backward pressure stops water entering
Reason: holds plant upright or explained


	3
	
	6(3) + 2

	
	(a)
	Example: any correct
Location:any correct (must match named example)

	
	(b)
	Skull

	
	(c)
	Acts as lubricant or stops bones rubbing or prevents friction

	
	(d)
	B

	
	(e)
	Prevent excess movement

	'
	(0
	Tendons


	4
	
	6(3) + 2 c

	
	(a)
	They are energised

	
	(b)
	(i) NADPH
(ii)ATP

	
	(c)
	Stoma(ta)

	
	(d)
	Stage 1

	
	(e)
	Any correct

	
	W"
	Increase rate of photosynthesis


	5
	
	6(3) + 2

	
	(a)
	Allows normal metabolic activities (or example) or keeps temperature suitable for enzyme reactions

	
	(b)
	Capillary network or moist surface or thin walled or elastic wall {allow large surface area or one cell thick or thin membrane)

	
	(c)
	CO,

	
	(d)
	Fall in water level of blood

	
	(e)
	Distal tubule or collecting duct

	
	(0
	Higher or more concentrated

	
	(8)
	Proximal (convoluted) tubule


	6
	
	6(3) + 2

	(a)
	(i)
	Tip of shoot or buds or meristem (developing leaves) or seeds or any other correct location

	
	(ii)
	1. Auxin or IAA or NAA or ethylene (ethene)
2. Auxin or IAA or NAA or abscisic acid or ethylene (ethene)

	
	(iii)
	Rooting powder or tissue culturing or weed killer or ripening fruit or seedless fruits or any other correct

	(b)
	(i)
	No growth or no effect or inhibition

	
	(ii)
	1 - 10

	
	(iii)
	Weed killer or any other valid comment


	Section B
Answer two questions - 2(30)

	7
(a)
(0
Stage 1
3
(ii)
Respiration
3
(b)
(i)
(a) 25°C-35°C
3
(b) Optimum temperature for enzymes
3
(c) Comment on variation in number of bubbles given off
3
(ii)
(a) (If aerobic conditions) no alcohol produced or C02 and H20
3
only produced or alcohol only produced under anaerobic
conditions
(b) Paraffin oil or any correct method
*
(c) Boiled yeast or no yeast
•
(d) Bubbles produced
•
(e) Test for C03



	8
	(a)
	(i)
	Loss of (enzyme) function (or activity)
	3

	
	
	(»)
	35°C - 40°C
	3

	
	(b)
	(i)
	(a) Maintain pH
(b) Enzyme: any correct
Measured: any correct method but must match named enzyme. (If it doesn't then no marks for naming enzyme either)
(c) Boiled enzyme or water
	3
3 3
3

	
	
	(ii)
	Axes correctly labelled Correct curve
	3 3

	
	
	(iii)
	(a) Trap (immobilise) the enzyme
(b) Make beads (which will contain enzyme)
	3 3


	9
	(a)
	(i)
	Brewing or baking or any other correct
	3

	
	
	(ii)
	Bread or any other correct
	3

	
	(b)
	(i)
	Any correct
	3

	
	
	(ii)
	Unopened plate
	3

	
	
	(iii)
	Diagram (must have at least one label) Leaf sample attached to lid/how attached
	3 2(3)

	
	
	(iv)
	Room temperature or 20°C - 25°C
	3

	
	
	(v)
	Description of safe disposal
	3

	
	
	(Vi) •
	Any relevant explanation
	3


Section C
Answer any four questions
	10
	(a)
	(i)
	Parasitism: harms the host or one species harmed Symbiosis: (at least) one species benefits
	3 3

	
	
	(>i)
	Example: any correct
	3

	
	(b)
	(')
	Name of ecosystem
	3

	
	
	
	Any correct (must match the ecosystem named in (i))
	3

	
	%
	(iii)
	Habitat: any correct habitat, (must match both ecosystem and named organism)
Niche: any correct functional role for named organism, (must match both ecosystem and named organism)
	3 3

	
	
	(iv)
	Qualitative
	3

	
	
	(V)
	Any two correct
	3 + 3

	
	
	(vi)
	Correct food chain with 4 trophic levels, matching the named ecosystem and including the named organism Food chain has incorrect number of levels but ecosystem and named organism both correct
Correct food chain with 4 trophic levels and named organism is included but ecosystem incorrect
Correct food chain with 4 trophic levels and ecosystem correct but named organism is not included
If food chain does not start with producer or does not meet above requirements
	6
3 0

	
	(c)
	(i)
	Scarce or can't make more or can be reused
	3

	
	
	(ii)
	(a) Remove CO, from atmosphere or CO, incorporated into plants
(b) (Release) C02 back into atmosphere
	3 3

	
	
	(iii)
	Respiration
	3

	
	
	(iv)
	Nitrification: ammonia to nitrates/nitrates or nitrates to nitrates Denitrification: nitrates to ammonia/nitrogen
	3

	
	
	(v)
	Ammonia or nitrates
	

	
	
	(vi)
	Protein/amino acid synthesis
	


	11
	(a)
	(')
	Mendel
	

	
	
	(ii)
	Each trait (characteristic) controlled by two factors Factors separate at gamete formation
	

	
	(b)
	(i)
	Homozygous or explained
	

	
	
	(<■)
	TtPp Ttpp ttPp ttpp
Tall & purple tall & white short & purple short & white
	

	
	
	(iii)
	25% of each

	
	
	(iv)
	(Alleles) assort independently

	
	
	(v)
	Very few recombinants or close to 0% or valid explanation Mainly parental types or close to 100% or valid explanation

	
	(c)
	(i)
	Variation: differences (between individuals) Mutation: change in gene (chromosome)

	
	
	(ii)
	Both Cc

	
	
	(iii)
	75%

	
	
	(iv)
	CC

	
	
	(v)
	X-rays or chemicals or cigarette smoke or

	
	
	(vi)
	Must occur in cells that produce gametes


	12
	(a)
	(0
	Ingestion: taking in food Digestion: breaking down food
	3 3

	
	
	(")
	Mouth
	3

	
	(b)
	(i)
	Peristalsis or described
	3

	
	
	(ii)
	Protein
	3

	
	
	(iii)
	Amylase
	3

	
	
	(iv)
	1. Salivary gland
2. 7-8
3. Any correct
	3 3 3

	
	
	(v)
	Acidic environment or explained
	3

	
	
	(vi)
	1. Pancreas or small intestine
2. Fatty acids and glycerol (both end-products required for 3 mks)
	3 3

	
	(c)
	(i)
	Absorption
	3

	
	
	(ii)
	Ileum
	3

	
	
	(iii)
	Very long/much folded wall/villi/cells (lining ileum) thin walled/good blood supply/many lacteals
any two
	2(3)

	
	
	(iv)
	Hepatic portal vein
	3

	
	
	(v)
	Emulsifies fat
	3

	
	
	(vi)
	Amino acids
	3

	
	
	(vii)
	Glycogen or vitamin A or iron or any other correct
	3

	

	13
	(a)
	(i)
	Any correct
	3

	
	
	(ii)
	Cuttings (or described) / layering (or described) / grafting (or described) / micro propagation (or described)
	2(3)


	y ---J

	r. microproagation (or described)
any two
(b)
(i)
Pollination: transfer of pollen Fertilisation: fusion of gametes
V
(ii)
Cross: transfer (to flower on) different plant Self: transfer (to flower on) same plant
3 3
(iii)
Meiosis/4 haploid/3 disintegrate/3 mitotic divisions/8 haploid/egg cell/2 polar nuclei
any five
5C
(c)
(>)
Testa
3
(ii)
Radicle
3
(iii)
Escape harsh winter/time for immature embryo to ripen/more time for dispersal/any other valid comment
2(3)
(iv)
(Water) needed to activate cytoplasm/provide medium for chemical reactions (accept water splits testa)
2(3)
(v)
True
Oxygen) • needed for respiration or to release energy from food store
3 3


	14
	Any two of (a), (b), (c) (3G
	,30)

	
	(a)
	(i)
	Prokaryote or monera ^ Protista or protocist Prokaryote or monera
	3 3 3

	
	
	(ii)
	Source of energy to make food
	3

	
	
	(Hi)
	Can't live in presence of 07 or only live in absence of 07
	3

	
	
	(iv)
	Disease causing Any correct example
	3 3

	
	»
	(V)
	1. Development of antibiotic resistant bacteria or explained
2. Nutrient and micro-organisms added/time (given for growth) product removed
	3 2(3)

	
	(b)
	(')
	Lactic acid/ethanol
	2(3)

	
	
	(ii)
	Lactic acid
	3

	
	
	(iii)
	1. Cytoplasm
2. Two
	3 3

	
	
	(iv)
	1. co2
2. Co-enzyme A
	3 3

	
	
	(v)
	NAD and Hydrogen form NADHVelectrons passed along electron transport system/energy released as electrons pass down the system/ used to convert ADP + P (phosphate) to ATP
	3(3)

	
	(c)
	(i)
	No light receptors
	3

	
	
	(ii)
	C: suspensory ligament E: conjunctiva (accept cornea)
	3 3

	
	
	(iii)
	Could lead to damage to light receptor cells
	3

	
	
	(iv)
	Cones
	3

	
	
	(v)
	1. Pupil
2. Iris
	3 3

	
	
	(vi)
	Absorb light or prevent reflection of light within the eye or good blood supply provides nourishment
	3

	
	
	(vii)
	Focus light onto retina (B)
	3

	
	
	(viii)
	(Presence of) aqueous humour or vitreous humour or explained
	3


	15
	Any two of (a), (b), (c) (3
	0, 30)

	
	(a)
	(i)
	Ductless (gland) or no tubes leading from them or (hormones) secreted directly into blood
	3

	
	
	(ii)
	1. Shedding of endometrium
2. Oestrogen
	3 3

	
	
	(iii)
	FSH: produce sperm LH: produce testosterone
	3 3

	
	
	(iv)
	Empty follicle develops into corpus luteum/CL produces oestrogen (or corpus luteum produces progesterone)/progesterone repairs endometrium/progesterone inhibits FSH and LH/egg dies/CL degenerates/progesterone and oestrogen levels drop/endometrium breaks down/FSH and LH produced
any five
	5(3)

	
	(b)
	(i)
	Cooling or transport of water/minerals
	3

	
	
	(ii)
	Osmosis
	3

	
	
	(iii)
	Build-up of water entering the root/causes build-up of pressure/water pushed up
any two
	2(3)
1

	
	
	(iv)
	Attractive (cohesive) forces between water molecules/water molecules stick (adhere) to walls of xylem
	2(3)

	
	
	(v)
	Diagram with location of both correct
	3

	
	
	(vi)
	1. Contains nucleus or controls activities of sieve tube
2. Allow cytoplasm to move from one cell to next
	3 3

	
	
	(vii)
	No
	3

	
	(c)
	(i)
	Cell body
	3

	
	
	(ii)
	1. Schwann cell
2. Insulation/speed up transport of message
	3 3

	
	
	(iii)
	Where: CNS (accept brain)
Fn: transmit message between neurones
	3 3

	
	
	(iv)
	1. Arrival of impulse at synapse
2. Synaptic knob
3. Broken down by enzymes
	3 3 3

	
	
	(v)
	1. Relevant cause
2. Relevant means of prevention or treatment.
(In both cases answer must match named disease)
	3 3


